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(a) var(Y; +Ys) OERZHFZRI V.

(b) [(Y1 —p) + (Yo — )2 ZEBIL 2 X\,

(c) var(Y; +Ya) Z v(0) & v(1) TRLZE .

(d) var((Y1 +Y2)/2) & ~v(0) & v(1) TRLERZ .
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(a)
E(Y;Y;—s) =0
(b)

var(Y;Y;_s) = v(0)?
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1. (a)
var(Y; +Y3) :=E (V1 + Y2 — E(Y1 + 12))?)

()
(V1 =) + (Yo = ) = (Y1 = p)* +2(Y1 — p) (Y — o) + (Y2 — p)°
()
(Vi + Yz — E(Y1 4 ¥2))?)
(Y1 —E(V1) + Y2 — E(Y2))?)
(Y1 —p+Ys—p)?)
(Y1 —p)?+2(Y1 — p)(Ya — p) + (Y2 — p)?)

(d)

var (Y1 + YQ) . Var(Y1 + YQ)
4
2(v(0) + (1))

2. () Y; 2 Y, 3N T

(b) E(Y;Y,_,) =0 ZDT

(©) E(V;Y;_,) =0%DT

COV(Y;K,S, Y;,TY;,S,T) = E(thY—tstvtfryvtfsfr)
E(V) E(Y_.Yi_) E(Yr_. )
— E(Y) E(Yi_.Yi_,) E(Y))
0
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